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In the system development process, writing the program is the part of the phase. (A)
analysis, (B} design, (C) implementation, (D) testing.

Given a linked list called children, the pointer variable children identifies element of the
linked list. (A) the first, (B) the second, (C) the last, (D) any.

in two’s complement representation with a 4-bit altocation, we get when we add 1to 7.
(A) 8,(B) 1, (C) -7, (D) -8.

Denial of service is a type of attack that threatens . (A) confidentiality, (B) integrity, (C)
availability, (D) none of the above. ’

The last step in JPEG, , removes redundancies. (A) blocking, (B) quantization, (C)
compression, (D) vectorization.

LISP is a{n) language. (A) procedural, (B} functional, (C) declarative, (D)

object-oriented.

If the transaction file key is 20 with a delete code and the master file key is 20, then we

{A) add the transaction to the new master file, (B) revise the contents of the old master file, (C)
delete the data, (D) write the old master file record to the new master file.

In an inorder traversal of a binary tree, the root is processed - (A) first, (B) second, (C)
last, (D) A or B.

When a sequential file is updated, the file gets the actual update. (A) new master, (B)
old master, (C) transaction, (D) error report. ' ‘
To reverse a list, you need a pointer. (A) null, (B) walking, (C) beginning, (D) insertion.
In sort, the items are divided into two lists, sorted and unsorted. (A) selection, (B)
bubble, (C) insertion, (D) quick.

Usea search for an ordered list. (A) sequential, (B) binary, (C} bubble, (D) insertion.
LZ encoding requires . (A} a dictionary, (B) a buffer, (C) an algorithm, (D} all of the
above. ‘ -
The scheduler moves a process from one process state to another. (A) job, (B) process,

() virtual. (D) queue.

is @ common language in the business environment. (A) FORTRAN, (B) C++, (C) Java,
(D) COBOL.
The layer of the TCP/IP protocol suite is responsible for source-to-destination delivery of
the entire message. (A) transport, (B} network, (C) data-link, (D) session.
If the memory has 2 words, the address bus needs to have wires. (A) 8, (B) 16, (C)
32, (D) 64.
In sort, the smallest item from the unsorted list is swapped with the item at the
beginning of the unsorted list. (A) selection, (B) bubble, (C) insertion, (D) quick.
A process in the state can go to either the ready, terminated, or waiting states. (A) hold,
(B) virtual, (C) running, (D) A and C.
In postorder traversai of a binary tree, the root is processed
last, (D) A or B.

. (A) first, (B) second, (C)
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